
COMPOUND EVENTS
[ESTIMATED TIME: 60 minutes] GCSE

(+ IGCSE) EXAM QUESTION PRACTICE

Each time Jeni plays a computer game the probability that she will win is 2
3

Jeni plays the computer game 3 times.

Calculate the probability that Jeni will win 

(a) all 3 games,

 .....................................
(2)

(b) exactly 2 out of the 3 games.

 .....................................
(3)

1. [5 marks]
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2. [5 marks]
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3. [5 marks]
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The diagram shows six counters. 

Each counter has a letter on it.

Bishen puts the six counters into a bag.

He takes a counter at random from the bag.

He records the letter which is on the counter and replaces the counter in the bag.

He then takes a second counter at random and records the letter which is on the counter.

(a) Calculate the probability that the first letter will be A and the second letter will be N.

..........................

(2)

(b) Calculate the probability that both letters will be the same.

..........................

(4)

B A N A N A

4. [6 marks]
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5. [6 marks]

The sides of a fair six-sided dice are numbered from 1 to 6
The dice is thrown three times.
Find the probability that it shows a 1 at least twice.

.............................

6. [4 marks]
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7. [3 marks]
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8. [8 marks]
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Here are seven counters.
Each counter has a number on it.

                                                                         

Ali puts the seven counters in a bag.
He takes, at random, a counter from the bag and does not replace the counter.
He then takes, at random, a second counter from the bag.

Calculate the probability that

(i) the number on the second counter is 2 more than the number on the first counter,

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(ii) the number on the second counter is 1 more than the number on the first counter.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

1 2 4 4 5 55

9. [5 marks]
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10. [9 marks]
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2

15

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

11. [5 marks]
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Box X Box Y

In Box X, there are 4 black discs and 1 white disc.

In Box Y, there are 2 black discs and 2 white discs.

Vikram takes at random a disc from Box X and puts it in Box Y.

He then takes at random a disc from Box Y.

(a) Calculate the probability that the disc he takes from Box X and the disc he takes 

from Box Y will both be black discs.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(2)

(b) Calculate the probability that the disc he takes from Box Y will be a white disc.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(3)

12. [5 marks]
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13. [6 marks]
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